MATHEMATICS - YEAR 4
HOLIDAY REINFORCEMENT-WORK - JULY , AUGUST 2018
NAME :

MJ_————-

Write the missing digits to make each sentence correct.

© 304553 5 @) 6969 < 6 9
© s020>8 a @) so02>5 |

o Write the number on each flag.

| 1 | i 1 [l | | J 1 | | | | I | | | ]
| | 1 I | | ] ] | 1 ] | | 1 ] I | l
a1

LW?LMIJ - - - - - - -

o Complete the addition grid.

+ 3459 7071 1009 6880
2000 | 5459
200
20 7091
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Choose three numbers. Write the total.

Do this four times. 74|36/ 18 || 55| 42

o + - o + -

_Dwr - - - .-

Write the missing numbers on each line.

@ —
0

0-5 I

91.‘:.‘:}1:1{111
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Decimal and §raction matching l_ I

e Draw lines between matching decimals and fractions.

I
I 55

Sl~

0-3

I
5 0-l

2:4

0-7

0

N|—

Quick an d EI'.IS! T O - - -

Ask someone to time you or set a timer.

How many can you do in 3 minutes?

© +730-700-=
€ 1606+ 150=
€ 8573+ 400-=
O 830+ 8002 =
© 3003+330=
© 6492-402=

© 5219-209-=
©) 9494 + 500 =
© 1301 +700=
(@ 4888 - 808 =
@ 6253 - 250 =
® 2250-250=
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Onwards and upwards === == == == ==

Continue each sequence by writing the next four numbers.

P 465 565 665 765
@ 6557 6567 6577 6587
(D 8520 8420 8320 8220
@ 1010 1120 1230 1340
@ 969 qasa qasq qa3q

Three of these calculations are wrong and three are right.
Find the wrong ones and work out the correct answers.

@ 3270-7=3267
@ 1900+ 201 =2101
) 6699 + 19=6718
@) 5225 - 525 = 4700
(D 4783 - 741 = 4043
) 2003 - 14=2989
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@ Using just the digits 0, I, 2, 3 and 9, create a subtraction like
this.

HOMO - XO = 6440

" Each shape represents a
particular digit. | is used
nce, 2 is used twice.

R

o

-

&
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Write the amount to add to get to the next whole number.

Take each card number in turn. Divide it by 10. Write the answer.

64 3-8 155 0-3 47 0-9 13-

,’

f How does a number
E change when you
\ divide it by l0?

© 66
O066
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Decimal challenge! [ == = = = =

@ Joe is thinking of a one-place decimal number.
It rounds to |1. Its digits add to 8.

What number is it?

Continue each sequence.

8 % & h

-4, -10, -6, : '

7 TR A S ! .

30, 20, 10, ! . :
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f‘;:_—l‘m.f:lij_-_--__

o Tick the addition you estimate has the largest total. Complete
the additions. Were you correct?

357 478 | 29
| 24 264 5496
+ 373 + 56 + 128

Complete each of these subtractions to find out why they will
make you say wow!

©® 78 70 10 8 @ szl

- 385 - 300 80 5 - 437

© 53 © as:3

- 284 - 317
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-

/

{ Remember, the
Invent your own wow | inverse of subtraction
subtraction. | is addition!

e

Write the missing digits to make the subtraction work. Is there
more than one solution?
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Mystery subtraction l. — e —— —— e ——

Complete the first subtraction.
Find the missing numbers in the second subtraction.

o 300 120 e

460 30 14 500 40 I3
- 200 80 6 - 200 60
70 5

Complete these subtractions.

600 70 4 200 20 q

- 200 50 8 - 100 50 4
o 400 50 3
- 200 60 8

Frog subtractions :

Use Frog to complete these subtractions:

0 700 - 465 =
©300-278=

€)s00-383-

|
I |

PP Pl
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Write the missing digits to make each sentence correct.

© :x7- © ax7-
(2 ] x 7 =35 OQc6x7-
© 7« = 49 o x7=77
(4] x7 =2l O 2x7-=

P

Find the answers to these subtractions.
© 300 130 @ 100 110 13 @) 200 140

400 30 7 200 20 3 300 40 5
- 100 60 3 - 100 70 8 - 100 70 4
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six or ni“e? - @ s s O

0 Draw circles around the multiples of 6.
Draw triangles around the multiples of 9.

Which numbers have a circle and a triangle? Borustiibar

the digits of
any multiple
of 9 add to
a number in

\ the x9 table!

Grid multiplication ==

o Draw lines to join the multiplications with the same product.

60 x 4 =
_ 40 x 6 =
60 x 3 = 5% 8 =
0 x4 = 40 x5 =
20 x 10 =

30 % 6=

Complete the grid multiplications.

o X “ 6 o X 3 4

6 = q =
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Division challenge! }— e

o Show Jim how to do divisions by solving 75 + 4.

N B

. .

e Would the answer be bigger or smaller if you divided 75 by 3?

Eosyandspesty | = = = = =

Write the missing digits to make each sentence correct.
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76 + 4 = 132 +6 =

5+3= 96 + 4 =
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Fizzing factors r- — o ——

Write the factor pairs of each of these numbers.

IIIE

7 9 D

Solve these calculations.

@ 240:6-= @ 300:15=
@ 120x4-= O 0x5-=

| Those factor
pairs can
help you!

J
(o)
o
|
]
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- N 2
ess the remainder |== - © €
Guess f What might help with \ ++

i

_ \ your guesses?
Guess the remainder for " I

each division.

4 5 6 3 @

Work each one out using your own favourite method.

(8 9 10 11

Find the amount that each person earns.

£664 per week
for 6 weeks
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£ 138 per day

for 5 days

£572 per week
for 8 weeks
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Fill in the missing numbers in these multiplications.

0 x 400 50 8
7 56
+ + =
9 458
x 7

fftht clues can help you

< 7 x 400 ij\ﬂ'nd the missing numbers?

« 7 x 50

+ <+ 7 %8

3206

Complete these multiplications.

€ 5367 O o618 © 723
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Adding fractions e ————

& .3 LA
s t5= 6§ T 6~
3 3 _

& HTE=

\

Fraction challenge! -

o Three fractions add together to make |. They have the same
denominators but different numerators. What could they be?

+ - =

Double or quits [ == == == == = -

o Double the numbers in squares and halve the numbers in circles.
Can you find three pairs of answers with a difference of 1007

OOoOOO0

126

O®
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o
| —
M=
o
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Eractions of amounts r I—

%D‘F?2= %Df?Z:

%Dfﬁﬁ:

¢ of 66 = L of 200 =

2 6f200 =

Tenths and hundredths ‘— e ———

Write the totals.
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Tenths and hundredths r i ———

| whole

Pl | —
b | —

(78]
W|—
LAY

=
|-
=
N

wvi|—
w|—
| —
wvi|—
w|—

o=
o=
o|—
o=
o] —
| —

col—
oo |—
oo |—
ca|—
oo|—
oo|—
oo |—
col—

[V} 0 0 4] 10 0 o 0 0 10

Use the fraction wall to write a fraction equivalent to

O : O : 100 D :

What needs to be added to each fraction (1, 2, 2, 2) ,

to make 1? <& WY
\ Q

= nf{ Look at the denominator of
E‘ each fraction te help you.

T

Write five fractions that have a total of 2.

Fraction challenge!

+ + + - =2
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Decimat fracdons = = — = =

Write the missing numbers on each line.

0 0-5 I

—)—

o T e T T B e M e el
1 I ] 1 ] r ] | I | '
. 4

L and fraction matching

Decima

e Draw lines between matching decimals and fractions.

I 7 4 g ;
m 55 0 0-3 3 01 24

o
=J
[\ 9]
Sle
[\ ]
o
un
=1
un
-
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Decimal grid l- e ———

Look at the calculations. Write each answer on the grid.

om0 || oixi0 || 26:10 || 74xi0 || 6:10 |

100s I0s Is [ 0-ls

-

g ____________________________________________________________________________ i about the value b =
\ of each digit.
. S N “‘~ -

Quick and easy t _—— = = =

Write these numbers in order from smallest to largest.

© 345619 @ 766769 @ 9334952

O +.554 O o307 © 6414615

Complete each addition.

10

(o) ]
et |
+
[l
~J
=
+
]
£
0
+
|
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Uﬂe,em“P I N N I S S . .

Fill in the numbers marked on these number lines.

®

I I-5 2

14

Write the next three numbers.

@® 37. 38 349 . ,
O 64 63 62 :

@® a3, a4 as, a6 a7, ,

Decimal decisions i‘ —— —— —

® Write the one-place decimal number that
comes exactly mid-way between |-l and 2-3.

Can you write the two-place decimal number
that comes mid-way between |-l and 1-2?

o e e,

:’f What will the hundredths

Kiiigit need to be? j.
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-
P

=—»=-_q" Can you do it in

\ under 3 minutes? ’
& I

G Draw lines between cards which add to 100.

How fast?

21 |34 || 48 || 75 || 63 (|79 || 66 ||52 |37 || 25

Fill in the numbers you must subtract to get to the previous
multiple of 100, and the numbers you must add to get to the
next multiple of 100.

o - 73 573 | + 27 e— 295 | +

o 346 | + - 168 | +

- 682 | + - LLG | +
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Which ﬂ“swer? - - s . s == .

Draw the matching shape around the answer cards to match
them to the question cards.

423 - 385 818 - 744

56 74 38

Puzzle it out l'— A —

e Five numbers are added together.
Three of them are multiples of 10.
Two of them are I-digit numbers.
The total is a 3-digit number with three consecutive digits.

This is one possible solution:
40+40+40+1+2=123
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What other solutions can you find?

Convert each weight to grams.
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4657 ¢

2485g

& &

386g  1795g 1949g

e

7
]
1
i
1
1
A

Remember how to lay
out your additions.
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This bar graph shows the capacities of different drinking bottles.
Answer the questions.

i
|4
I-3
I-2
I} —

|
0-9
0-8—
0-7
0-6
0-5
0-4 -
03 b -
0-2—{- — —
0 — —

Capacity (litres)

Ann’s Bill's Ali’s LngusSnm’s
Water bottle

@ How many millilitres does the smallest bottle hold?

0 How many more millilitres does Sam’s bottle hold
than Loga’s?

@ How many litres do Ali’s and Sam’s hold altogether?

® Whose bottle holds half a litre?

@ Which two bottles have a difference of 100 ml?

Page 30 of 43



Choose two amounts. Add
them and write the total.

Repeat this five times.

You must use at least two
different methods to add.

s

——————

Nl

You can add in your head,
on paper with jottings or
using a written methed.

£99

£136

£54

£29-99 £45-68

Choose agaln == —em e e e

Look at each subtraction and choose how to do it. You can make
jottings on the back of this sheet if you wish.

|4
3 416

£ A 8 8
- £ 17 8

.‘i

© £100-£7889=
€© 2654 - £12:43 =
© £371 - £248=

£39

| £ 27 B
£50

© £4580 - 45p =
@ £35- £3466 =
@ £32-£350-=
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@ A mystery number is subtracted from 500.

The answer has three consecutive digits and the digits of the
answer add to 12.

What is the mystery number?

N R
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i

...........

angle is bigger
than a right angle?
i Which type is

\ smaller?

o J

e Write the letters of the shapes that have parallel lines.

o Write the letters of the shapes that have perpendicular lines.
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symmetry

!

Look at these shapes and draw all the possible lines of symmetry.

N

@

(L=

(6
@

A

Page 34 of 43

PN




Shape challenge! r@— _— = == = :

o Draw a shape with
six sides, which has

just one pair of

perpendicular lines,
just one reflex angle
and no parallel sides.

Shape up! l‘ -

Write the name of each shape and calculate its

Y v

perimeter.
o 2¢cm o 12¢cm , -
3cm 3cm ( Remember
to count the
4cm 4em o
Scm sides.
I12cm
6cm I2ecm 12cm
4cm
8cm 4cm
Perimeter: Perimeter:

Page 35 of 43



4cm 3cm

5cm 5cm |2cm

5cm

6cm

6cm

I2cm

Perimeter:

Perimeter:

[0cm

20cm

IS5cm 24cm

l4cm

5cm

Perimeter:

Which triangle? ,— e ——

Look at these triangles and label each one scalene, isosceles or

equilateral.

~

)y <
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Perimeter challengel | == == === ===

Draw three shapes, all with different areas but the same perimeter.

7 9

What pol.ys ' Plot the points and join them to create a
polygon. Write the name of the polygon.

i._z_._i_ I O :z_._._._ i i :_ - ::

B T I EPRR—
4 ._!___i—--i—— —— HT | { Plot shapes I and
EHE B ‘g B | i 2 on the first grid,
PO | | and shapes 3 and

[ [ | e [ | | e

I{}U i 3345678 0123456178 x\LHunthesecond.
© (05 &) @45 © (0.0) 3.0) (0,3 33) (5.2)
O 2 (67 (83) O .4 84 (338 (7.6)

Page 37 of 43



o Shape o moves three squares down.

Write its new coordinates. T o
s
{ \What do you notice about how s~ )
i\ the coordinates have changed?
14 ged E

Dollars d@ P Sam is travelling to Australia.

o Complete this table showing how many Australian dollars Sam
can get for each amount of British pounds.

British Pounds Aus. Dollars -ﬂ:l /
2 pounds buys 3 dollars ‘ {\
4 pounds buys 6 dollars | P e ket -
i two rows, your
pounds buys 9 dollars | number of pounds
t
i should not be
8 pounds buys dollars iimre o b
pounds buys dollars
pounds buys dollars
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Use the table
to draw a line
graph to show
how many
dollars Sam
can get for
each amount

of pounds.

Dollars (5)
Chhhoueoho P BEREEERES

10
q
8
7
L6
5
‘fi-
3
2
|
n
01 234567 84I0NMI2IBIGI516171B1A20

Pounds (£)

How many dollars will Sam get for £157

o If Sam spends $30 in Australia, how many pounds is that?
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S N - - - -

What’s the time?

Draw the hands on the clocks to match the times.

Count up to the next o’clock time for each of the four clocks in
questions | to 4.

o minutes o minutes

s
q:45
o minutes o minutes
- P e [EP— - s -
ol g -
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Ali leaves school at quarter to four. He gets home at ten past
four. How long is his journey?

Debbie has to bake a cake for 30 minutes. She puts it in the
oven at five to ten. What time should she take it out?

Measuring in cm and mm

Complete these sentences.

60cm = mm cm =220 mm

43cm = mm mm = 18cm

Which of these could measure 25cm in length? Explain why
you think this.
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Dog lengths Ir:i-:'r-:-.:\-_.: e

Convert each length to centimetres and then write them in order,
smallest to largest.

['5 m

= 4 i | . - - -
Perimeter puzz
Work out the missing amounts in the diagrams below.
« ? >  bcm
? 10 cm
l 15 cm 29 crris
Perimeter = 1
80 cm Perimeter = Yo
81 cm th > -

o o 7

Perimeter =

Remember how to use lengths \

to work out perimeter.
W

{
1
I}
t
1
i
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A coach journey lasts 33 hours. The coach arrives at its
destination at midday. The first half of the journey takes

twice as long as the second half. At what time does the
coach reach the halfway point?

o8
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